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98,501,000& 14l 98,501
Ny Ak 25} 3,769, 166 3,354,023 415,143
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5. AEAESHA 22 400,000& *13J 400
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SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ofl At ot HusZ
201 st 2,060 2,141 ~10,081
IR 2,060 12, 141 ~10,081
(2ers2H|) 2,060
1. ENBRAIGE 1,680,000 %1% 1,680
2. ElYAEAD 70,0002 *13] 170
3. ElYABARSE 210
o, 2L R 70,0002 5201 %1% 140
L. ElolZ & Al 70,0002+ 174 70
308 E&3 18,000 30,000 A12,000
01 Z&3 18,000 30,000 ~12,000
1. HI2ESTRASTSL AU 01
300, 000! %60% 18,000
307 2120l 520,938 440,000 80,938
05 BI2teier3 520,938 440,000 80,938
1. BREXE ¥ 20 KO HS(RES)
520,938, 0002 520,938
ne s 376,470 351,800 24,670
ANHEE2E Xy 211,620 201,800 9,820
201 st 121,420 111,600 9,820
01 AtR el 121,420 111,600 9,820
CEETD 115,420
1. EYDS AN 300, 0002 +70% 21,000
2. HRZAAZLVNSY AL DS
95,0002 +700% 66,500
3. SAMLAHDE DS
6,000, 000! *32 18,000
4. 53TV DS
1,400,000 %2 2,800
5. AHHAHSE DS 24,0009 #5524 6.820
6. ¥RZF D= 100, 0002 *3% 300
(294+9) 6.000
1. EUAALY 1,500,002 *43] 6,000
202 OfHl 90,200 90,200 0
01 =Lhoit] 90,200 90,200 0
1. SRS 350, 000! +70% 24,500
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_ = HET
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2. HFZAANSRAUSH DA
70,000& *700& 49,000
3. SHULRUHLE DKW
3,900,000% 3H 11,700
4. 5835 HUE KA
2,500,000 »2&H 5,000
SEYTOPOI = Sy W= 60,000 60,000 0
201 Zet=gll 60,000 60,000 0
01 AtZ 2l 60,000 60,000 0
(&L SHI) 60,000
1. TOPOHRIE Sttt | 300,000 200 60,000
Hel ARTAl HE 104,850 90,000 14,850
202 01d 104,850 90,000 14,850
04 =Hatoibl 104,850 90,000 14,850
T, SN IH WASH o2l
1,875,000 & 16& 23] 60,000
2. HE A A 1,500,000 5 »4 & 30,000
3. SUARUHLE dHAAHS
4,950,000 34 14,850
ddo LAZ2Y 1,434,195 1,314,346 119,849
4 =451 54 1,429,695 1,309,846 119,849
101 QI2H| 45,875 28,676 17,199
10 JIZHIZ2NSES 45,875 28,676 17,199
1. UMY SSA 8,456
o JIE=S 32,2003 »1H 222 x93 6,394
L. =&%=¢ 32,290 1 =40 1,292
Ch. SAxt=¢ 32,200 x 19 291
ch. XML 7,977,000 *6% 479
2. UMY ZclAb 8,022
. J1=238 30,6303 18 »22& «9E 6,065
Lt. =5=+¢ 30,630 * 1«40 1,226
Ct. AXt=& 30,6302 » 1 «9& 276
ch. XML& 7,567,000 *6% 455
3. FUisg 2SR 24,061
. J128 30,630 3 22 & +x9& 18,195
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AtS 2teltl 26,880 11,760 15,120
(= 26,880
1. &A= A 143 %10,0000H = 16CH 123 26,880
xrek2te) 199,260 201,210 21,950
2o SE& z2tel 199,260 188,970 10,290
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1. 858 ESEE 150, 000& *53] 750
2. 2EXHHILE =2 380,000& 53] 1,900
3. *RRd&HE 2 38 450,000& »22l 900
4. = RHESE= 600 *23| x222 x12& 317
5. FIdYSBAEE 11,0002 »2CH» 122 264
(S4l) 4,800
1. S22HA MEZ A
5,000 »20L *4H x 12 4,800
S22 190,329 180,620 9,709
(B3L3LHA) 190,329
1. XS XAl 4,720
. Egss 550, 000& *1CH 550
L. S8sE 350,000 =3CH 1,050
Ct. A58 180,000 1 CH 180
ot HEsE 250,000 »2CH 500
Ot CHE =& 120, 000& * 1 CH 120
bHt. & - 2858 70,000 +8CH 560
A, EE3t= 50,0003 = 1CH 50
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At AQIXtE 60,000 = 1CH 60
PN=EONE=S 100, 000& =1 CH 100
Jt. JIEtXtE 100,000 =4 CH 400
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Ct. SEXEM -5 - 2)
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25,0003 = 1CH
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53,000& +7CH
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7) A8SE 300,000 »7CH* 12 *70% 17,640
8) E8sl= 240,000 * 1CH* 12 +70% 2,016
9) A8sE 250,000 «23CH =123 x70% 48,300
10) HCIEH 300, 000& *1CH*12& *70% 2,520
1) S0 300,000 *1CH*12& *70% 2,520
12) JIEbXtEF 330,000 *4CH =122 *70% 11,088
L. Xt&F==cltl 41,430
1) dEXH 170,000 *2CH 122 70% 2,856
2) =858 140,000 *2CH 12 x70% 2,352
3) 2SS 120,000 = 1CH =123 x70% 1,008
4) &S 130, 0002 *2CH 12 x70% 2,184
5 HEsd 138,000 = 1CH =123 x70% 1,160
6) =858 90, 000& » 1CH* 122 +70% 756
7) A8SE 110,000 «7CH* 12 +70% 6,468
8) E8sl= 150,000 *1CH =122 *70% 1,260
9) A8sE 100,000 *23CH =12 x70% 19,320
10) HCOEH 54,000 »1CH* 122 +70% 454
1) X 150,000 * 1 CH* 122 70% 1,260
12) JIELXtEF 70,000 »4CH =122 x70% 2,352
Ch, AU WE 2 483 AREW
=) 8,104
1) S8YdEEE
19,0002 *8CH =12 *80% 1,460
2) AESE 15,0003 » 1CH« 122 «B0% 144
3) HEss 25,0003 = 1CH* 12 +80% 240
4) EE€SE 22,0003 »1CH =122 «B0% 212
5) A8 &8 18,0003 *15CH 122 *80% 2,592
6) =858 25,000 +6CH * 12 *80% 1,440
7) AES2 15,0003 *14CH 122 x80% 2,016
ME=2Zo SHet S 11,950 11,950
SEMREIM E2¢ 11,950 11,950
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2,000,0009 * 14! 2,000
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35,0002 *500 A *35| * 128 6,300
3. BAL QEHFE HA 3,000,0008 *13] 3,000
4. AL HARS 52 675,000 *63] 4,050
5. 2443 HA 1,700,000 x23] 3,400
6. U HIHA =2 120,000 *13] 120
02 Z2=29H| 187,230 199,425 A12,195
(22224 HA) 161,250
1. 82NN 22 950,000 *23| 1,900
2. DE|Y 2oz 4,500,000 *13] 4,500
3. MIAES 11,500,000 * 122 138,000
4. & - BEE AME2 L 20I2 2H2
1,400,000 122 16,800
5. AYordE 3| 50,0002 *13] 50
(A& &Yl S Xl) 25,200
1. MIIANES sxzel 12,120
o, 8258 2 =28 uA
1,300 *2000H * 122 3,120
Lb, @XoHED S WA
9,0002 5071 = 12& 5,400
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4. JIE AMAEE S22 (&2, 222
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(H=dl) 780
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05 QIZtEt=2 114,000 113,738 262
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3. 4D U™ 200,000 = 12& 2,400
4. BAI RoFHAIAE 2
900,000 *12& 10,800
HAI X2 125,000 63,508 61,492
201 Bt 1,000 1,000 0
02 23224l 1,000 1,000 0
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1,000,000& 14! 1,000
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FA S0
B ZOITA OIY 25
CHol: ZOIHO RXME 2 (crol: & 2)
S A .S (FH) - NBAY - BHAS A} OH &EIE Hn=2
- T ° - = Rl e =5 0:”/&,% Lsa
1. XHOHZ A XFXIEHA SEMNBFES=S
]l 5,000& x5%H »20 500
202 (44l 2,400 2,400 0
01 =UWobl 2,400 2,400 0
1. RHZHRUXSHHMSSRAFAOSELFA
]l 30,0003 »40H *23| 2,400
203 HRFZH| 5,000 5,000 0
03 AIHFAHRFEY| 5,000 5,000 0
1. NOHZHHMSBRF 5,000, 000& 5,000
307 220N 20,000 0 20,000
04 QIZHHAIE X 20,000 0 20,000
1. RNOHZHE WFHAXA 20,000,000 20,000
2 I 2 Kl = 2 Il o0 KFKTE AL 4,500 0 4,500
= 4,500
101 eIyl 4,469 0 4,469
= 4,469
10 JI2ZHH22sSEs 4,469 0 4,469
(H2H2LH) 4,469
1.8 3,974
HIlleE=su 31,870 x1H»97 3,092
= 3,092
Lt. =5 31,8703 »1Z 20 638
= 638
Ct.oaxt==< 31,870 x1H x4 128
= 128
ct. XM Il 116,000& 116
= 116
2402 495,000& 495
= 495
201 Let3| 31 0 31
= 31
01 At=R2teldl 31 0 31
(get=EZHl) 31




FA S0

& QXX Ol 25}

Chel: FOIBO| UXME 2 (cHel i el)
SN HB SR (BIH) - A - B S 0l &b S D=2
- o T ° - = S = &= 0:”/&,% WS

TLEMANSRALHK K S RFE 24|
31,000& 31
= 31
23t =4 X# 2,020 0 2,020
201 LEH23H] 520 0 520
01 AtR2teld 520 0 520
(fet=EHl) 520
1. &IHAIZE 65,0003 20 *4= | 520
301 pt8azg 1,500 0 1,500
10 FAIAHIEAS 1,500 0 1,500
1. HAIAHRIIY ALK& 1,500,000& * 14! 1,500
& F2HH A 243,347 1,232,973 A 989,626
Al 41,155
- 202,192
=02s MK 3,790 1,002,549 A 998,759
201 et 3,790 2,549 1,241
01 At 2cld] 3,790 2,549 1,241
(Let=5Hl) 3,790
1. 2SS 3,790
Jb. S0 (HALE) 50,000& *62] 300
Lt. SE28dHS 60& *2,0000H 23] 240
Ct. =273 NAIY 65,0003 x50 3,250
MOISXIEA Ut Has 58,911 57,560 1,351
Al 29,455
- 29,456
301 LptEasg 58,911 57,560 1,351
Al 29,455
- 29,456
02 Zs=dsi= 58,911 57,560 1,351
1. MOIEXNERAEHESE S 58,911
Jb. NS&HH(35%) 58,910,600& 58,911
Al 29,455
T 29,456
ANEOIE ™I A 23,400 16,000 7,400
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fAM: B
X{ ZH -
S =

chel:

_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
AT DHFEI ALY Al 11,700

? 11,700
307 QI2tolH 23,400 16,000 7,400
Al 11,700
? 11,700
02 QABNTZ 23,400 16,000 7,400
1. AFAE DM FIIAY 23,400,0002 * 14} 23,400
Al 11,700
? 11,700
FOXXHEH 2 43t 10,580 10,516 64
201 YerRH| 3,580 3,516 64
03 EAI2ZH 3,580 3,516 64
1. FOXXME T2 IABANS 3,580
o, ERIHE 95,0002 * 1224 1,140
L. AFDHHIZ 65,0002 1074 650
Ct. S22 500& *2,500% 1,250
o, ZHEME 9002 *6000H 540
301 YerEAZ 2,000 2,000 0
10 SAIAHIEAS 2,000 2,000 0
1. SNBSS SHE 2 & A
50,000 *40% *13] 2,000
307 QI2tol & 5,000 5,000 0
04 QIASAIEE 5,000 5,000 0
1. UXMEHI2IBHAN S
5,000,0002 *13] 5,000
SEHE X 82,220 84,420 A2,200
301 YeHEAZ 82,220 84,420 2,200
02 Zs=zdsi= 70,400 68,800 1,600
1. SEHFSS 70,400
Jb. DS 440,000& *40E +4D| 70,400
10 BAIAHIEAS 10,000 13,800 A3,800
1. STUYAE 50,000& *100E 23| 10,000
12 JlEte a2 1,820 1,820 0
1. QHE - BHEAlY 65,0002 7% x4 1,820
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FAM SR
ME: FOIXR I8 25
o9 PF SACH KL k)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
MOtE OlsEM2 22X 64,446 61,928 2,518
307 QIZt0IA 64,446 61,928 2,518
02 2I2tda=gx 64,446 61,928 2,518
1. MOIS0Is&EMA2=2d 64,446
Jb. @] 44,928,000 44,928
L. M<IH&HI 44,928,000 *3% 1,348
Ct. 22ld| 8,170,000& 8,170
ct. EAMF 10,000,000& 10,000
s d#F N 653,476 10,400 643,076
SEAN X2 515,000 7,400 507,600
201 LEH23H] 500,000 2,400 497,600
01 AtR2teld 500,000 2,400 497,600
(gx=z) 500,000
1. FQHEH gXt= 500,000,000& * 104 2 500,000
401 AIEHIZLROY] 15,000 5,000 10,000
01 AlI&HI 15,000 5,000 10,000
1. S¥S YXEAN FBL4=7 5,000, 000& 5,000
2. SEMN ANEE=ZA 10,000,000& * 14! 10,000
ZE0/8T =20 2 3,000 3,000 0
201 ZEH2IH] 3,000 3,000 0
01 AR &cldl 3,000 3,000 0
(Lot H 3,000
1. ZE0I2RNE=2HLAEE WA
7,500& 4002 3,000
HE=s 2= 125,031 0 125,031
201 ZEH2EH] 20,295 0 20,295
01 AtR2cldl 18,795 0 18,795
(Let=~2Hl) 17,795
1. SEE MH 300,000 14! 300
2. HHRAZ 1,000,000& * 14! 1,000
3. Z=CIMIE LY E X & 1,500, 000& *2JHK 3,000
4. 5 HEE MA 1,500,000& * 14! 1,500
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SN SR
& QXX Ol 25}
€e:r s ¢48 X3 (el &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
5. QIAMNSLSHE 500,000& 14 500
6. FUESESAHAIE 1,500,000& * 14! 1,500
7. EPOHHEXE 50, 000 *8JHK 400
8. ZoAl=x 85,000& =74 595
9. NROIHZ 300, 000& 1A 300
10. ZHLHEHMZ 200,000 =14 200
1. EA0IEHIE 3,000,000& * 14! 3,000
12. HHAEX 2,000, 000& * 14 2,000
13. 2& Ry 2¢ 1,000,000& * 14! 1,000
4. 2235 % JI&t 3| 2,500, 000% * 14 2,500
(A& &HISXIH]) 1,000
1. 22134l £X 1,000,000& 14! 1,000
03 HAr2ZHI 1,500 0 1,500
1. SFLUHEHMNAA 1,500,000& 14! 1,500
401 AIEHIZLROY| 23,500 0 23,500
01 Al&HI 23,500 0 23,500
1. HIILSAAIE 10,000,000& * 14! 10,000
2. 2IALHEX 2,000, 000& *14] 2,000
3. @M1 =4I 1,500,000& * 14! 1,500
4. NS4 T QH2IH SAt
10,000,000& * 14! 10,000
405 Kt SHI 81,236 0 81,236
01 NAXESEH=HI 81,236 0 81,236
1. BI2OHLHCH 10,000,000& * 14! 10,000
2. 215D 2,600, 000% = 1CH 2,600
3. ZFH 1,300,000 *19CH 24,700
4. dOI=ZEE 800, 000& »2CH 1,600
5. BAIE S| 400,000& = 1CH 400
6. &3tJ| 310,000 =18CH 5,580
7. tRH(SAEH]) 3,000,000& * 14! 3,000
8. Eor&EH| 2,500, 000% *14] 2,500
9. At 2,000,000& *2CH 4,000
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A SR

& QXX Ol 25}

9 £ #E I

S HE - S(EH) - NRAY - BES 01l &k o e

10. €& 500,000& 1 CH 500
1. 2ddl& 400,000& »1CH 400
12. SEHE 2,000, 0003 * 14! 2,000
13. &5 & JEAX 1,000,000& =14 1,000
14. 2SI EHOIAME T 100, 000& 104 1,000
15. Xt 30,0003 *50JH4 1,500
16. S M AIEHD| 500, 000& *1CH 500
17. 2t0ilet 350,000 1CH 350
18. SIAAHDl &0t 700,000& » 14! 700
19. QIRIAZEQ) 150, 000& *2H 300
20. 212D THCH 400,000& = 1CH 400
21. I Aot 50, 000& 104 500
22. 23| 50,0003 =84 400
23. M 500,000& 14! 500
24, M2 SAH L 100, 000& 134 1,300
25. FRSEAH 300, 000& *9H 2,700
26. CIZHCHE A B 320,000 =44 1,280
27. OIsABI 150, 000& * 14 150
28. ZREHESHA 200, 000& *3JH4 600
29. ZREHEA 42,000 *3H 126
30. EFAH(TAYESF) 200,000 1CH 200
31. A4 200, 000& *15CH 3,000
32, HA(STHL=) 500, 000& *1CH 500
3. 2ATH(E) 150,000 * 151 2,250
34. QI XH(CH) 300,000& 14 300
35. AOH - ALSICH 1,000,000& * 14! 1,000
36 RE 150, 000& *2JH4 300
37. XN2elAlD| 1,000,000& = 1CH 1,000
38. =1 1,000,000 = 1CH 1,000
39, MEH(FOUNIMNHE) 150,000 2CH 300
40. RE(FUXXHNHE) 150, 000& *4CH 600
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SN B

R F0ITE Ol B3
e R Xl & e
DA - EH O (5) - HRAIY - HH2 Abon e 2
SIOIEBS(FOUXNRMEHE)
200,000 = 1CH 200
#EE s 10,445 0 10,445
2A82IY| 9,445 0 9,445
At22Zel bl 7,945 0 7,945
get24|) 7,945
Z= 0l Al 2 X T 1,000, 0003 *14] 1,000
2. 8E® 2 2UE S HE
700,000 =14 700
3. &) S HIAHA 500,000 = 1CH 500
4. SQIAIX 85,000& 74 595
5. DRoIHZ 400,000 * 14| 400
6. OHLHS =9 50, 000& *5H4 250
7. EE2=ME 500,000 =14 500
8. AF2401& &I 2,000,000 =14 ,000
9. &A8F ¥ MAHl 2,000,000 * 14 ,000
At S I ,500 0 1,500
STQHE I AN 1,500, 000& =14 ,500
405 RtaHFE=HI ,000 0 1,000
& S SFHEHI ,000 0 1,000
L HMA s 7Y 1,000,000 *14] ,000
A 1,100,000 0 1,100,000
= MNMESAHS, BAXA) HF 1,100,000 0 1,100,000
A& HI 220 1,100,000 0 1,100,000
Al & HI 1,100,000 0 1,100,000
. SEEANAS 1,100,000, 000& 14! 1,100,000
=0l g HO &% 90,273 127,072 A36,799
DX2A=So] RAMHIA MBS 59,393 127,072 ANB7,679
ss8o DAY ME 29 29,886 38,008 AB,122
B2 A Y| 29,886 38,008 AB,122
At22Zel bl 27,486 23,158 4,328
et 24|) 21,816
. URARAMEA 800& 1,500 1,200
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SN SR
M F0 oy mo £
©elr DMASO QIRAMHIA WS (oA |)
_ _ ME
A -3 -H2A(SH) - HEAMY - BES O AF K @;C,H Hos
2. SESELZIIEU 250, 000& *4Jli x4 3] 4,000
3. SESTESIIAEEHE
34,000& 204 680
4. IIEHHNSESHLSAUEA
800& *1,0002 800
5. IBZASEMLUDLAEUE
4,000&+305*15& 1,800
6. DIADIELRIALA 900& *600Z * 13 540
SAEX 17,000& »24box*12& 4,896
SAIEY 160,000 *1CH *33] 480
. ORIE EYH/EHE 200,000 *6CH *33] 3,600
10. WAl EH/EH
140,000 *6CH *33 2,520
. =UsSE 8 - ==2&X
25,000& *25box 625
2. ASHEN =& 45,000 * 15box 675
(Il=Hl) 5,670
1. QREINA2R =Y 5,670
. s8(4.0)
(90,000 x5 )+(150,000& 122 ) 2,250
Lt. St=(g,0)
(60,0002 *5% )+(90,000& *12¢) 1,380
Ct. EF=(g,.0) 120,000& *17Y 2,040
02 =223l 2,400 14,850 A12,450
(Z322LHA) 2,400
1. REHE 2,400
Jt. 21 1,750& #1002 12 2,100
Lb. et 2502 *1002 *12¢ 300
HOIGt D otetst DIRA 29 4,890 8,330 23,440
201 BH2EH] 4,890 5,290 A 400
01 Ar2eldl 3,400 3,400 0
(LBet=>EHl) 3,400
1. QUZEYIY 150,000 *2box 300
2. IAAT Y 100,000 *75 700
3. Iy stctate] 2 StEXdsE4
400,000& *43] 1,600

_23_




od
’J
oF
oJ

cC o
— T

]

Bo
29 QJANHIA W3

SsHX

o o

ni;

OF o) &F
O K-

=

24
Jé‘lil—l
chel:

e

n0

KIo

Bl w

A 400

3,663
3,663
3,615

H3r
uiled!
pak=

1,890

4,200

3,000
3,000
1,200
1,200
13,554
13,554
3,330

=
o

s

<J

800

500

300
1,490
1,490

600

890
640
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17,217
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6,945
6,945
6,195
1,935
3,600

ol
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w

J
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3
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2l =1l *2

50,000& *2CH 5

150,000

(ANEZBI=XHl)

3
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Bl
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wl]
o
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U500 %4

150,000& 4
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750,000 = 1CH

66,000

(150,000& 1CH* 128 )+(504, 0002 » 1CH*12& )

(A& ZBI=Xl)




FA S0
HE: X0l ¥F WO =2
ol DMASOl BIANHIA HIE (SHol &)
_ _ boNE =
SM-EH . C(BH) - HRAY - B2 e Oil &k o8 s
(ZZ232HA) 2,424
1. RUNALSIIHEIH=E
202,000 *1CH =122 2,424
QA D2 ©= OtgelXH 29 3,200 3,000 200
201 BH2EH] 1,000 1,000 0
02 23244l 1,000 1,000 0
(AMEEBISXIYl) 1,000
1. Qe 2t =0l AN E2 O
=Xl2el 1,000,000& 14! 1,000
303 Eiaz 2,200 2,000 200
01 Z4&= 2,200 2,000 200
1. QeSS0 N2 23 £
o= 2,200
b ZRSZRR(191) 500,000& 1 500
L. =32 29) 400,000 2 800
Cht. 2322 (34) 300,000& 3% 900
Heg YR 30,880 0 30,880
Hagds 229 30,880 0 30,880
101 Q12| 10,944 0 10,944
10 JIZtHZ2Z2NSEx 10,944 0 10,944
(D122 2 ) 10,944
1. B 9,670
. =™ 30, 160 x 1 +22 x 118 7,299
L. =&=¢ 30, 1603 »1H 48 1,448
Ct. X8 30, 1602 111 332
O, ™M<IH&Hl 9,846,000 *6% 591
2. ZRAHLEBEZ 9,670,000& *2.54% 246
3. LI RLEEE 246,000& *4.05% 10
4. ZQAZEE= 9,670,000 *4.5% 436
5. 128Ea 9,670,000 *1.3% 126
6. SHHEEE 9,670,000& *4.712% 456
201 ZEH2IH] 15,936 0 15,936
01 Atf2teld 14,136 0 14,136
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FA S0
M F0 oMY HO &2
ool oAYES gRae (&9 &
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] At oH @;OH Hl =2
(LetL2H|) 12,186
1. AIR2E 3¢ 100, 0002 122 1,200
2. =¥I| 2 264, 000! *4box 1,056
3. EAEX 17,0002 *5hox* 12& 1,020
4. IALBAEANA
402 x6Z+10, 0000 x23] 4,800
5. 2AIEUH 230,000 *1CH 43 920
6. LT EEL 250,00024 »1CH *43] 1,000
7. EMIOZIEE 210,000 20 x43] 1,680
8. 2EIIEY 80,0002 *1CH*33] 240
9. HMALUPIEY 90,0002 «1CH*33] 270
(L=4l) 1,950
1. DA 2R= 130,000 «3 x5 1,950
02 2229 1,800 0 1,800
(A& ZHI SR 1,800
1. HLtE)| 0l A 1,800
Jb. BH2 - ®D| AXHI2
1,800,000 x1A! 1,800
203 Y2 =Z&H| 3,000 0 3,000
03 AIMZRAD=ZY| 3,000 0 3,000
1. OB YR=X 3,000,000 3,000
405 KHAHE SHI 1,000 0 1,000
01 XML ESEFSH 1,000 0 1,000
1. FolsEsz2d)) 1,000,000 = 1CH 1,000
HYESHHH|(E2D) 7,657,603 7,455,786 201,817
olERgH|(BS2Y9) 6,889,076 6,764,657 124,419
ol 2| 6,889,076 6,764,657 124,419
303 HAZ 2,028,228 2,053,683 25,455
02 Aa2 2,028,228 2,053,683 N25,455
1. Anate=2 2,028,228,000 2,028,228
304 ¢2RE=S 4,789,903 4,651,214 138,689
01 22z 3,767,905 3,728,934 38,971
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SN SR
I HY2ISLI(S2D)
£l AIH2HHI(SS29) (She: & @
_ = HET
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol A o8 Hluse
1. HSRESd2Na
23,000,000,000& *15.285% 3,515,550
2. EIR+YRE= 200,000,000& 200,000
3. Hol2o2E= 52,355,000 52,355
02 =UALEE= 1,021,998 922,280 99,718
1. [UASEE=(Lery, JEH 8)
38,670,000,000& *2.54% 982,218
2. LI QYEEE 982,218,000 *4.05% 39,780
307 22rol A 70,945 59,760 11,185
07 d3lles 70,945 59,760 11,185
1. FES0S(MEE22)
2,027,000& ~35& 70,945
elE 23| 450,691 384,046 66,645
elE 23 450,691 384,046 66,645
101 el 282,176 224,231 57,945
02 =¢ 75,861 71,140 4,721
(AlZt22+9) 75,861
1. 63 9,796 * 18 x15A1 2t * 122 1,764
2. 63(&8, JIs)
8,312 10 = 15A1 2tx122 14,962
3. 72(&8, s, €3)
7,457 A=17E*15A] 2«12 22,819
4. 85(E JIs)
6,682 24 «15A| 2122 28,867
5. 93(&e, JIs)
5,993 *6& x15A1 2t * 122 6,473
6. JIs10= 5,422 x 18 «15AI 2Hx 122 976
08 JIEtAE = 96,589 93,235 3,354
(BAIZE| LRI ROHHE T E) 96,589
1. 20i(1288) 1,456,000 3 =122 52,416
2. 32+ 52,416,000& *1/12 4,368
3. IIEY 3,480
Jb. X 40,0003 »3H » 12 1,440
Lt JIEt 20,000 *7H~ 122 1,680
Ch. JIEF=IH2 (ST RHA )
30,0003 1 =122 360
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SN SR
M HHSAAH (52D
CHel: ol 29| (s & &
- _ _ ME
SN HABIH) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
4. 3Z+gotat= 2,280
Jb. 158 0[&~20 012t
80,000 x1& 123 960
Lt. 100l&f~15E= 0] 2t
60,000 x1& 123 720
Ct. 58 0la~10= 0/ 8t
50,0002 x1&H~12& 600
5. AMHEHIEX =& 1,684
Jb. nsstil 420,790 x1& %43 1,684
6. N2t2AZ2R+8&
6,342 «3 1541 2H+ 12 3,425
7. NG AH 130,000& »3H «12& 4,680
8. NSExH 120,000 »3H * 122 4,320
9. g2 Xl 105,000 »3E «12& 3,780
10. SEStyI 52,416,000& x1.2/12 5,242
1. JHAXI 28I 52,416,000 *16.7% 8,754
12. =ENH==L(XH) 30,0001 ~12& 360
13. il st 50,0002 x3& x12& 1,800
09 RIASIZZNE S 109,726 59,856 49,870
(2EARF) 109,726
1. B= 32,860
. 8¢ 30, 160 x2H 255 15,382
Lt. &0is 15,382,000& *4/12 5,128
Ct. 250Het= 15,382, 000& *10% 1,539
ct. Gxtg 30, 1603 x2&H »18& 1,086
0. =s=¢ 30, 1603 x2H 522 3,137
B, RS A 60,0002 x2&H x 12 1,440
Ab. WS EEH| 60,0003 x2& 123 1,440
Ot EEFJtYI 15,382,000&+1.0/12 1,282
A A2 R2E 5,655 x2H x50 Al 2+ 566
NSRS/ Falls] 31,000,000 6% 1,860
2. zUALEER 32,860,000& *2.54% 835
3. LI RAEBEE 835,000& *4.05% 34
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SN SR
I HY2ISLI(S2D)
B9l oI5 29| (Shel: & @
- _ = MU
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol AF o8 BlusZ
4. RUHASEER 32,860,000 *4.5% 1,479
5. NE28= 32,860,000 *1.3% 428
6. HMMHESE= 32,860,000 *4.712% 1,549
7. MAEEE &2 71,000,000 * 14| 71,000
8. NEEE(FIIE) 1,541,000& 1,541
&g 2=y 138,275 128,975 9,300
I 22dg =AY 102,300 93,000 9,300
2E3E 58,300,000 58,300
SRAFEY 40,700,000 40,700
EF=F 3,300,000 3,300
02 ZJEItMERFAH| 30,035 30,085 0
1. #3(5239) 30,035
Jb. 100 Mt 80,000& *100& 8,000
Lt. 101~300E 60,0003 200 12,000
Ct. 301~600& 45,0003 x2234 10,035
04 FAZEERFLM 5,940 5,940 0
1. 12 350,000+12& 4,200
2. = 5,000& x29H » 123 1,740
204 HIPaHAY 30,240 30,840 A600
01 Hu=gs-a8dl 20,400 20,400 0
1. #38% 650,000 «12& 7,800
2. 27EY 600,000 x12& 7,200
3. EF=8 350,000 <12 4,200
4. SFUE 100,000& ~12& 1,200
03 S3YF+-2 S 9,840 10,440 2600
1. S4%)| €373 100,000 x3E 122 3,600
2. 02 - S8 Ng3=2¥
100,000 x1H =12 1,200
3. 3RALN gE372
60,000 2« 122 1,440
4. 33 - AR 932
50,0002 6 122 3,600
Jl2d 317,836 307,083 10,753
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= 77,162
432,562
SMNE N LAY 22 13,800 13,800 0
201 LErEIH| 13,800 13,800 0
02 =224l 13,800 13,800 0
(A& Z&HIKXHl) 13,800
1. & AEHI R X E 4=t 13,800
ot B EH 900, 000& *400CH *3% 10,800
L. Z2lE 500, 000& *200CH *3% 3,000
DZESHAAY 29 106,681 255, 103 £ 148,422
201 LErEHH| 106,681 105, 103 1,578
02 2224t 106,681 105, 103 1,578
(A& HISXI224]) 106,681
1.FUSEFMS K EHI 9,514
ot B EH 1,000, 000& *74CH *8% 5,920
L. Z2lE 748,000& *490H 8% 2,933
Ch. o2 A4 172,100 *48LCH *8% 661
2ANZFHEEIEAIAEH
(9,166,300 +155,379,0002+44 594, 0002 +59
,900, 0002 ) *8% 21,524
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SN BEAAD
H: NEHESG J|BtxH
el HENMBAAH2Y (A2
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
3.2EJ|BAIAE 22X 224t
945,527, 0002 *8% 75,643
HAAMAAE 2 25,671 22,789 2,882
201 LEH2AH| 25,671 22,789 2,882
01 AtR22/H] 10,810 10,750 60
(Let=2Hl) 10,810
1. XS A 00 Al 2,115
O 2EI2(LTO) 150,000 * 104 *90% 1,350
Lt.CHEHIOI = (12GB) 20,0002 «307H *90% 540
Ch.D| EFeH 04 X 50,0002 *5IH *90% 205
2. 0O MNEREHARSE 7,317
JhClg=2 630, 0002 *1JH*90% 567
L. AR TE 600, 0002 *1JH*90% 540
Ct.2eldR|UE 3,100, 0002 * 1 JH *90% 2,790
ot EchAlz 2,900, 0002 *1JH*90% 2,610
0. €Y 900, 0002 * 120 *90% 810
A0 NERHAZE 778
HEH/EH 864,000 * 1 Al E x90% 778
4. H==7| 25,0002 x2B0X* 12& 600
02 2229 14,861 12,039 2,822
(A& ZH|ISXIH]) 14,861
1 EMASRAHIRRES 14,861
oL &2st85 IS X2
17,600, 000 *7% 1,232
L. ZIIEEIISX 22
1,750,000 *7% 123
ChZ=D=d0IMZIHS K E2H
20,000, 000 *7% 1,400
2t PEHMNMAEI KK E 2=H|
41,461,000 *8% 3,317
O It S A A AR S K| E4H|
(48,650,000 *8%)+(20,600, 0002 * 12%) 6,364
HE.OHOIHE B S A A S X E2-H
20,900,000 «7%)+(8,014, 0002 x12%) 2,425
SHOIX=2H 26,618 28,004 A1,386
201 LEH2AH| 6,618 8,004 A 1,386
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SN BEAAD
H: NEHESG J|BtxH
el HENMBAAH2Y (982
2N -3 - c2(3H) - NEME - HES 0] Ao gl,%g':; Hl =2
02 22293 6,618 6,090 528
(ZZQ3LHMA) 932
1.OHYEHoIAIRE 220
pI=I= 70,0002 * 14 70
L. g2cnel 50,0002 «2H 100
Ct. 8 =2 =0 el 50,0002 * 14 50
2. HAEAHMAHAMNES 712,000 712
(A& ZHI S 5,686
1.2HOIXAIAE 2K E2H 5,686
JH.EHOIXAH KX 44|
23,500, 0002 *8%*90% 1,692
L. Y LRX2S2(s/w)
14,450,000 *11%*90% 1,431
Ch.EAMA ARSI E4H|
17,400,000 *11%*90% 1,723
2h.eBOOKAI A Bl S X| £ 2= H]
7,000,000 x12% 840
207 HROfE 20,000 20,000 0
02 & AN 20,000 20,000 0
1.2HO0IX HH 20,000,000 * 1Al 20,000
ERSESESUNEN = 90, 121 150,954 60,833
201 B2 HH| 65, 121 65,954 A833
02 2229 65,121 56,354 8,767
(AMNEEHISX24H) 57,561
1L.EBIAZZAAED SRS
18,000,000 *8%*90% 1,296
2ATEYOUENZAAES K E2H|
39,000, 000 *10%*90% 3,510
3.XA2RAIAL S XS 4H|
331,800, 0002 *8%*90% 23,890
4 I Z2SZCAAHSI B 4H 14,028
L EXEM2ES/W
97,972,830 *12%*90% 10,582
L. Rt 2 22 9S/W 31,900, 000 *12%*90% 3,446
5.0I0| EHHIOl A S X 2 4=H| 8,921
DI EpNI=n2= 48,500, 0002 *12%*90% 5,238




A HAEaA0
M N9d8238 Jlgtxy
el HEHZBAAHRZY (cro &2l
= — PSS
SAN-ZH-SA(FA) - NFAY - BES O AF K 'Oﬁ/'\ja'g Hlw &2
L.EXE 34,100, 0003 *12%*90% 3,683
6.=7el0l AlAg X Z4H|
(31,000, 0002 *12%)+(6,500, 0002 *8%) *90% 4,188
7. SESIAANAERIE 2]
24,000, 000& *8%*90% 1,728
(B3L3LHA) 7,560
1.2el0l2XAEE 630,000& x12& 7,560
405 KHeHE SHI 25,000 0 25,000
01 XALSEFHSHI 25,000 0 25,000
LEUEM £ e 88 2
25,000,000& * 14! 25,000
HEE ATEYN E= 49,300 27,900 21,400
207 AN 49,300 27,900 21,400
02 N ADHEH| 49,300 27,900 21,400
(A &HIHEHI) 49,300
1. HIOIHABAI AT E A
31,000,000 *30% 9,300
2. UREELITEHNFY 250, 000& * 1004 25,000
.ESEMESSANAERY
15,000,000& * 14! 15,000
ANYHIZ L5t 197,533 192,906 4,627
= 77,162
- 120,371
201 eI 197,533 192,906 4,627
= 77,162
- 120,371
01 ArR2teltl 197,533 192,906 4,627
(ger249dl) 197,533
TLAZRSSIEAIASER AR
197,533,000 197,533
= 77,162
T 120,371
B2 Aratzte] 90,000 82,200 7,800
FNEHATHIES 90,000 82,200 7,800
405 Kt SHI 90,000 82,200 7,800
01 XA ESEFH=HI 90,000 82,200 7,800
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SA

X{ ZH -
S =

ool Mo xane) CERED
] _ _ PIEL=
SA - S (BH) - MRAY - B2 Ofl At o e HDE2
T 80,000,000 80,000
o malE 500, 0002 *20TH 10,000
HESA 01Zp D3 506,920 554,532 A47.612
HosA2 364,420 367,080 A2.660
201 Yere oy 364,420 367,080 A2.660
2 zZzegyl 364.420 367,080 ~2.660
(2222YHA) 364,420
| UBEBAEE 141,936
ObUBES 35,0002 «1355] & 122 *80% 45,360
Lt ISON(2H A R)
3,500, 0002 <23] &1 * 122 0% 67,200
ST
2500002 *15] & * 122 +80% 2,400
o EHEARS
80,0002 * 16CH 12 *80% 12,288
OF.TRSAFE 2 45,0002 *34TH « 122 «B0% 14,688
2 HMEIMARE 000,484
o T/DEES M 19,6002 1203 & « 122 28.224
U ANEE S 178,660
~ Mbps 4200002 *315| &« 128 156,240
~ Abps 6900002 13| & » 122 8.280
~ 128Kbps 98,2802 x13| & » 122 1,180
— 512Kbps 2700002 x43] & %122 12,960
Ch.OIEHY(ISP)AIZ 2
1,300,0008 %13 & * 122 15.600
HEEADC 3 90, 400 132,000 A41,600
405 XtarE S| 90. 400 132,000 A41,600
0 NALSEF =6 90,400 132,000 41,600
N ECELTE 90000
b EQISTIAIAEI(IPS)  45,000,0002 x2CH 90,000
2 LEoNFal DA 400, 0002 *1CH 400
HOSAAL 29 52,100 55,452 A3.352
201 2ere oy 44,100 45,452 A1.352
0 Aezeldl 1.800 1.800 0
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SA: HEAYD
Mm: X mEe J|HEA
te: 3234 elzZet D&t ? AR
M-S (3) - HRAY - BES Aro e =2
(Let=>5Hl) 1,800
L2AMESIEHES (LHE)
100,000 «6CH 23] 1,200
2.ZEHEH 150, 000& *2CH 23] 600
02 =294l 42,300 43,652 21,352
(A& EHISXIl) 42,300
1. 83t WA 22,976
Jb. & Xt Eo| 181,000, 000 & *7%*80% 10, 136
Lt 21 EFEX 165, 181, 000& *7%*80% 9,251
Ct.2AtE S| 10,123,000 *7%*80% 567
ct.SE2WE)| 37,840,000& *7%*80% 2,120
O S8 M3} 4,105,000 *7%*80% 230
Ht. 2 EHA 5} D] 12,000, 000& *7%*80% 672
2.UERIAE 12,768
Jb.Switch HUB 81,500, 0003 *8%*80% 5,216
Lt. 982 Switch 118,000, 000 *8%*80% 7,552
3.20AI4 6,556
LT FICED
36,224,900 *8%*80% 2,319
Lt . 2 S3EHI(S) 27,379,000 *8%+*80% 1,753
Ch. 23t 38,800, 000& *8%*80% 2,484
401 AIEHIL RO 8,000 10,000 22,000
01 A&l 8,000 10,000 22,000
1.EASAUANERANE S 8,000,000& * 14! 8,000
FUSE & SAH2a 236,010 219,087 16,973
Al 55,227
- 180,783
sEaa 103,410 99,794 3,616
ESEYRFA 103,410 99,794 3,616
201 et 103,410 99,794 3,616
01 At 2&cld] 103,053 98,429 4,624
(Let>5Hl) 103,053
1.:USESE=sUE 3,430& 100 343
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SM: MR
Mo FRISE o SHne
o9 FoS=ae (e9: @8
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
P 92,800
b EATHES 3,2002 18,0000 57,600
L A I7MR LI BRI 2 2
3,2002* 11,0000 35,200
3.0 AALLYTLRA A BRI 7,964
bozgeggyses 122,00024 %372 4,514
L. FoS=2eggze
50,0009 *69% 3,450
4, FUSSYRF BYC L Yzt
I = 346
o, EBeste 50,0002 %301 150
Lh. i2rE 7,0002 x280H 196
5.012% FOISSARL LT3
20,0002 +80% 1,600
02 ZZ2Y| 357 1,365 A1,008
(BZRSLHA 357
. &5SFUSESSIISLE
1, 7502 1721%123] 357
sJzel 132,600 119,243 13,357
Al 55,227
2 77,373
=P BIELSEIN, 110,457 107,340 3,117
Al 55,227
2 55,230
101 QI24Hl 29,444 107,340 AT7,896
Al 14,721
2 14,723
10 JIZH2ZRER S 29,444 107,340 AT7,896
IWG=PBIESSTE VLIS 28,782
b EARAT 2EIR
42,6602 %7% 202 *75% 4,480
Al 2,240
o 2,240
L.groses 40,7501 %82 * 122 x75% 2,934
Al 1,467
= 1,467
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SN HEAYD
H: FOSE 2 s
©el: S22l (9l &8
_ _ - MEg
SH BB O(B) - NRAY - BAR Ofl &+ o4 il i~ o Hn=2
Ch 2 E A 22X 42,6602 102 52821 +75% 8,959
Al 4,479
T 4,480
o EAYEY YRR
40,7503 * 142 %292 x75% 12,409
Al 6,204
T 6,205
2. 0BMNEEE 38,373,700 2. 3%*75% 662
Al 331
T 331
201 LEHREH| 81,013 0 81,013
Al 40,506
- 40,507
01 AtR2cibl 81,013 0 81,013
(der==&Hl) 81,013
LAIRIHIIZSHEAE +2 81,013
L EMNPETALY
42,6602 162 492 75% 25,085
Al 12,542
T 12,543
L2 XA S
42,6602 2321 %762 +75% 55,928
Al 27,964
T 27,964
MHIIESHEA £ 3,068 3,065 3
201 Ler2 | 3,068 3,065 3
01 At22tcid| 3,068 3,065 3
(LergHl) 1,568
1.SHAEZMN MEES 2,500 x93 233
2.EE8TAMEEX 18,000& »20BOX 360
3.ZgH EH 150,000 »3H 450
482852 U ZAINE AN 525
b B (YetE) 7,000 +25H 175
L. EciatE 70,000 *5H 350
(S2H1) 1,500
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SN BBAYD
o FOISE U SH 2L
Sel: S22 (Et9): & 2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 il b o bRz
I ZMEHSZE L Hoele
5,000& x56F «60 1,500
19,075 8,838 10,237
19,075 8,838 10,237
18,200 8,100 10,100
18,200
20,0002 +2005 4,000
2 AFIHIIESHEA R DA R 2
20,0002 +2005 4,000
3.EASES S5 ¥ 2uxNTY
2003 *500& 35 300
4 MJAARAX HE 9,000&+*1,100% 9,900
02 =324 875 738 137
(ZZR3LHA) 875
LSS RBE 3,5002 %2502 875
HY2SZH(ZE24AHD) 96,089 98,720 N2,631
Iz 23 33,139 33,570 A431
el 2 A 33,139 33,570 A431
101 el 27,739 28,170 A431
02 =¢ 27,739 28,170 A431
I, Al2tel 224g 27,739
t.5= 9,796 1H«15A1 2tx 12 1,764
Lt.62 8,31221 x42I+15A| 2+ 122 5,985
Cht.72 7,457 3 +8H«15A1 2tx 12 10,739
ct.8= 6,682F x5H x15A| 2tx 123 6,014
0r.92 5,993& x3H «15A| 2t+ 123 3,237
203 YR F&H| 4,200 4,200 0
04 BEA2EHRFIH 4,200 4,200 0
VTR S 350,0002! #1224 4,200
204 HessAY| 1,200 1,200 0
01 HMSHR=HFH 1,200 1,200 0
1. A MG HRF A 100,000& 18122 1,200
Jl=&Hl 62,950 65, 150 A2,200
Jl=&d| 62,950 65,150 A2,200
I
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